
Y4 Maths Thurs 21st Jan – Independent Practices 
Use the grid method to solve the given calculations:  
	

a) 515 x 9 =        b) 784 x 9 = 
 
 
 
 
 
 
 

 
c) 958 x 8 =       d) 441 x 7 

 
 
 
 
 
 
 

 
e) 431 x 4 =        f) 254 x 6 

 
 
 
 
 
	
	

	
	
	
	 	

X	 		200	 				40	 				5	

		3	 600 120 15 

Eliza	and	Chris	use	the	grid	method	to	work	out	245x3.	Who	is	correct?	
Why	is	the	other	person	incorrect?	
	

X	 		200	 				40	 				5	

		3	 600 12 15 

= Eliza 
says the 
answer 
is 735 

= Chris 
says the 
answer 
is 627 

Independent	Prac2ce	2:	


